Rule
Place the given number of mines into the empty cells, so that each digit
represents the number of mines in the 8 neighbouring cells.

| Answer Key format: For each marked row, enter the number of “mines”.
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Rule
Place the given number of mines into the empty cells, so that each digit
represents the number of mines in the 8 neighbouring cells.

| Answer Key format: For each marked row, enter the number of “mines”.
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Rule
Place the given number of mines into the empty cells, so that each digit
represents the number of mines in the 8 neighbouring cells.

| Answer Key format: For each marked row, enter the number of “mines”.
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Solved
Example for
Exploratory
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| Answer Key format: For each marked row, enter the number of “mines”.
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Rule
Place the given number of mines into the empty cells, so that each digit
represents the number of mines in the 8 neighbouring cells.

| Answer Key format: For each marked row, enter the number of mines.
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Rule
Place the given number of mines into the empty cells, so that each digit
represents the number of mines in the 8 neighbouring cells.

| Answer Key format: For each marked row, enter the number of mines.
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